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EDUCATION
( Major )
Paper : 5.5
( Statistics in Education )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Fill in the blanks / Answer the following :

1x7=7
weTe frartyze 48 Ot o[ 391 / Tea o

(a) The measure of variability independent
of frequencies of the given distribution
is

a7 REUR IRAReR ooy Rpfeq

= l .
(b} The value of coefficient of correlation of
two variables varies between and

T PRI TR TEE eqed W
LIS TES TR@T 7Y |
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(2)

(¢ In normal distribution, mean and tlc
includes % of total scores. '

Fele Rewm 16 W% tlo-q P PR
% ST F(A |

(d 1f mean is less than median, the
distribution is skewed. '
TYAOLE 6 I 20 Rt Rewe
731

(e) A student ranks 6th in a class of
40 - students. Find out the PR of the
student in the class.

GBI 40 T WIS IS GO AR T X ATS
Ffz | e g PR [4q 3411

() In a class of 19 students, 8 students
has failed in an examination. The marks
of the successful students are 41, 57,
61, 48, 56, 62, 75, 82, 72, 68 and 64.
Find out median mark of the class.
19 & e bl e b1 *RIFS 8 T TE
e e | FOON (Rl WA TIPTR
(%% 41, 57, 61, 48, 56, 62, 75, 82, 72,
68 TF 64, A 7399 qgl [Afg F111

(g) Why is histogram called continuous bar
graph?
wrRrerTae 1 wffee wefbq 3R @ =2
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(3)

2. Answer the following questions : 2x4=8
I PR T fepe

(@) Mention two advantages of frequency
distribution table.

AR e wifem 1 R4 Sea 47 |

(b) Distinguish between product-moment
correlation and rank-difference correla-
tion.

TR -ACATD T F T~ T
TS ) YA |

(/) In Group (A), N=40, M=20 and
SD=10 and in Group (B), N =60,
M= 10 and SD = 5. Find out combined
SD of Group (4) and (B).

(A) ™ N =40, M =20 9% SD = 10, &=
(B) ¥ N =60, M =10 9¥ SD = 5, ¥ (A)
W (B)I A4S Te Rpfs Py w1

(d) Write two important pfopertieé of a
normal probability curve.

Tofe Reed 301 0 sveed a1 31 iy
Eaill
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(4)

3. Answer any three of the following questions :
5x3=15

Wﬁmmﬁ@mﬁoﬁﬁﬁwm:

(a) What is meant by statistics? What are
the limitations of statistical measure-

ment? 2+3=5
s REm Fa & qme ARPTRE

AR SREerz ¥ [ 2

(b) What is standard deviation? Why is
standard deviation regarded superior to
other measures of variability? Explain.

2+3=5

e Rpfe R Rpfes SFir ITRes
e Rpfes f Tegd 3o R w01 =2
N T '

() What is meant by percentile point and
percentile rank? Illustrate  their
difference with examples. 2+3=5

woipy Ry o o TN e & qmm e
THIZAPTE, 2204 & #(12(FT T T4 |
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(35)

(d) What is correlation? Ranking of

(e)

8A/227

10 students in two sub_]ects A and B are
as follows :

T 7 10 w7 vt vy A 9% B w1
T PR oo il 199

S 8 4 7 10 2 1 6 9
4 9 S 2 10 3 1 8 7

Find out coefficient of correlation
between the marks of the subjects A
and B by rank-difference method. 1+4=5
FA-A4F Twie R A W% BI ome
BT A 591 1

Mention two advantages of graphical
presentation of data. How does a .
histogram differ from a polygon?
Explain. ' 2+3=5
CTAbET T O ~RePFR Tl R Seay
T GO IHEN @ @B WEerwa  Rewq
MRS VAR IIC I

Explain the concept of Kurtosis by
dra\;ving different types of Kurtosis.
Explain the nature of a curve with

Ku = 0-563. 4+1=5
Rfen e T3 349 od W IR 397 7
YIACTCO! 101 41 | Ku = 0-563 T& 9o 399
oS A 41 |
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(6)

4. What is mean? Find out mean of the
following distribution by ‘assumed mean

method’ : 2+8=10

S 7 TS T ES'E O SIfPR [ TS
g 711 :

Class Interval Frequency
CI T SRR

55-59 4
50-54 8
4549 10
40-44 12
35-39 7
30-34 8
25-29 6
2024 3
15-19 2

N =60

Or / 5441

What is quartile deviation? Find out quartile

deviation from the following table : 2+8=10

Tds fpfe oo o et @ vode Rpf
ey 911 :

Class Interval Frequency
1 e IR

90-99 4
80-89 7
70-79 9
60-69 .12
50-59 4
40-49 10
30-39 9
2029 5

N =60
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(7))

S. What is product-moment correlation?
Calculate coefficient of correlation from the

following data by this method : 2+8=10
AT RTIT 7 e ST [T ¢
TANSCI TTFH BT el 9]
6 8 12 15 18 20 24 28 31
Y : 10 12 15 11 18 25 22 26 28
Or / 511

In an examination, mean marks scored by
400 students is 45 with a standard deviation
of 15. Assuming the distribution to be
normal, find out the following : 5+5=10

(a) The number of students securing marks
between 30 and 60

(b} The limits of the marks of middle 50% of
the student

<51 #IFS 400 T A ] T G LR 45
e A7 Rpfs 2= 15, Revasm Frefie 3 ot
©eTe frarTR A w1

(a) 30 ¥ 60 F I 99 (R QL[ H24

(b) CTAER 50% TET 7997
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( 8)

6. Draw an ogive from the following distribution
table and find out median from it :- 8+2=10

woq 939 O o[l Wb THES WA I OE
YR [T YT [ 9

Class Interval Frequency
o1} SETr LIEREE]

60-64 3

55-59 S

50-54 4

4549 6

4044 8

35-39 10

30-34 6

25-29 7

2024 1

N =50
Or / 91
What is skewness? Test the skewness of the
above distribution. 2+8=10
fogel 57 ©oET ofeeR el 30 4 |
* & %
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